I Teilunvo-Epyaocioa 2

ITpooetoupriotiny IStotnTa: o xdde tpdda apriumy a, 5,y woybouv ol
TEAX AT LIGOTNTES:

o (a+B)+y=a+(B+7)
e (a-f)y=a-(B-7)
O+A)+O0=04+(A4+Q)x (O-2)-O=0-(A-0)

Avtipetadetinn Iuétntor: To xdde Ledyog aprdumy a, B oybouy ol To-
EOXTL LOOTNTES:

e at+f=0+a«
e a-f=0 «
O4+A=A+0xud- A=A -0

‘Eotw a, 3,7, 90, €, ( aprduol. No anodeilete nwe 1oy 0ouy oL Topaxdte WLOTNTEC.

L (a+B)—v=a+(B-7)
Anddeln:

(a+8)—y=(a+p)+(=7)
= 0t (54 ()
=a+(f-7)
And TNV TPOCETAUELOTIXT LOLOTNHTAL (D + A) +O=0+ (A + Q)
(x):O0=a,A=5,0=—y

2. (a=pf)—y=a+(=8-"7)



e~

(—a+p)+y=—a+(B+7)

(—a+p)—v=—-a+(8-7)

() +(=B) —7=—a+(=8-7)



10.

11.

a—fFf=-0+a

—a+p=0—-«

—a-f=-f-a

a—f+y=-F+7+ta

(a-B)-y=7-(a-p)



12.

13.

14.

15.

(@+B)+y=7+(f+a)

() (=) v =a-(8-7)



17 a-B-a-f-a=ao- 3

18. Oé-ﬁ-(—a).ﬁ.a:_oﬁ_ﬁQ

19. (—a)4-64:a-6-a-5-a-ﬁ-a-5



20.

21.

22.

23.

a+f—-—a+pf+a—pF=p0+2a

(a+pB)-vy=7(a+p)

(@+5)-(y+0)=(0+7) - (a+p)

(a+B)-(y+0)=0+7) (B+a)



24.

25.

26.

27.

((—a)- (=B)) +(v-8) =(6-7) + (a- )

(@ B)-7)-d=a-(8-(5-7))



28. ((a+B)+7)+d=5+(a+(5+7)

29. ((+B+7)-(6+€) ¢=(E+€) ) (a+7+5)

30. ((a-B-7)+@E+6)+C=((0+)+¢) +(a-7-p)

31. (((a+6)+a)+,6) +a=a+ ((6+a)+(5+a)>



